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10.

Answer all the questions
PART A (10X2=20)

Mention the necessity of power rating.
Give the assumptions for heating and cooling
calculation.
Why differential compound motors are not used in
practical?
What is meant by plugging in DC motors?
Why single phase induction motor is mnot self
starting.
Why starter is necessary for staring a DC motor?
Write down the applications of Ward-Leonard
system of speed control.
What is meant by duty cycle?
Write the classifications of PWM techniques.

What is slip power recovery system?
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PART-B (5X16=80)

Explain the factors governing the
selection of motors.
Or

A 100 kW motor, having rated
temperature rise of 60°C, has full-load
efficiency of 80% and the maximum
efficiency occurs at 85% full load. It has
thermal time constants of 80 minutes
and 65 minutes. It is eyclically loaded,
120% of full load for.oné hour and 50%
of full load for the next hour. Find the
temperature rise after 3 hours.

Explain various methods of braking of

DC series motors with neat diagrams.
Or

¥ixplain the speed-torque characteristics

of three phase induction motor with neat

diagram.

List | out the advantages and

disadvantages of electrical braking over

mechanical braking.

Draw a neat schematic diagram of a four

point starter and explain its working.
Or

Explain the different starting methods

of three phase squirrel cage induction

motors with neat sketches.

Explain the single phase half wave
converter drive speed control for DC
drive with Wave forms.

Or
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A 250V DC Series Motor takes 40A of (16)
current when developing a full load
torque at 1500rpm.Its resistance is 0.5

If the load torque varies as the square of

the speed determine the resistance to be
connected in series with the armature to
reduce the speed to 122 rpm. Assume

the flux is proportional to the field
current. :

Explain the V/f control method of AC (16)
drive with neat sketches.
Or
Explain the working of following (16}
methods with neat circuit diagram.
1) Kramer system
i) Scherbius system





